
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 4th Week, 2nd Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The ascending order of 1, –1, 0, 2, –3, 5 is:

ÅÅÅÅFFFF,,,,KKKKMMMMùùùùŠŠŠŠ~~~~ìììì:::: 1, –1, 0, 2, –3, 5

(a) –3,–1,0,1,2,5 (b) 0,–1,1,2,–3,5 (c) 5,2,1,0,–1,–3 (d) –1,1,0,–2,3,5

(ii) The absolute value of –7 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: –7

(a) –7 (b) 7 (c) 0 (d) –9

(iii)Which of the following is correct descending order?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏ™™™™gggg„„„„FFFF,,,,KKKKMMMM4444,,,,zzzzààààìììì????
(a) –3, –1, 0, 5, 3, 1 (b) 1, 3, 5, 0, –1, –3

(c) 5, 3, 1, 0, –1, –3 (d) 5, 1, 3, 0, –1, –3

(iv)The absolute value of –43 is: ÅÅÅÅÇÇÇÇ7777ìììì:::: –43

(a) 0 (b) 43 (c) –43 (d) 1

(v) The ascending order of –2, –4, –6, 0, 2, 4, 6 is:

ÅÅÅÅFFFF,,,,KKKKMMMMùùùùŠŠŠŠ~~~~ìììì:::: –2, –4, –6, 0, 2, 4, 6

(a) 6, 4, 2, 0, –2, –4, –6 (b) –6, –4, –2, 0, 2, 4, 6

(c) –6, –4, –2, 0, 6, 4, 2 (d) –6, –4, –2, 2, 4, 6, 0

(vi)Which of the following is correct descending order?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏŠŠŠŠgggg„„„„FFFF,,,,KKKKMMMM4444,,,,zzzzààààìììì????
(a) –18, –11, –7, 16, 9 (b) 16, 9, –18, –11, –7

(c) 16, 9, –7, –11, –18 (d) None of these Zy~ÐÃð7
Q.2. Write the absolute value of the following integers.

(1×2=2) ŠŠŠŠgggg`̀̀̀ffffssss9999ZZZZ°°°°ZZZZŠŠŠŠÅÅÅÅ°°°°ŠŠŠŠ~~~~7777KKKKXXXX
(i) –2813 (ii) 0

Q.3. Arrange the integers in ascending and descending order.

(1×2=2) –7, 0, –4, 4, 3, –2, 1 9999ZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃFFFF,,,,KKKKMMMMùùùùŠŠŠŠ~~~~ZZZZzzzzgggg4444,,,,zzzzàààà~~~~FFFF,,,,KKKKMMMMŠŠŠŠ,,,,XXXX

Q.4.Arrange the absolute values of the following integers in

descending order. (1×3=3) ŠŠŠŠgggg`̀̀̀ffffssssZZZZ°°°°ZZZZŠŠŠŠÅÅÅÅÇÇÇÇ7777ÃÃÃÃFFFF,,,,KKKKMMMM4444,,,,zzzzàààà~~~~KKKKXXXX
109, –215, 0, –85, –141, 149, 215
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